$25nE

BIAL AN T o —KRER
CGHE) i 7 i X T3

TRR28HE BIMSHFEAERE

16.11.12

AB |&52%)IE[NO[+y/17 Sl ) 2y | |6 AR |sseuE|IE[NO+17 x B e
108228 | delh | 1 1) 9305ms00, 0 - 7 KEL|ERA ooy | | 12A38 | sta | 121 930 xE+ RE | i 1RE
(1) | (Fmy |3 | 1010 - (1) |kEb)| Y | 1010
Lo 3| 2| 1050 kgt 1 - 0 EHA [sas xmt 3| | 1050
4| | 11:30 4 | 11:30
5 81 1210505, 0 ~ 1 HHEA |x@t ERA 5| 22| 1210 x g+ i | BE xmt
6| | 12:50 6| | 12:50
7| | 1330 4 7
! 9:30 s | 1023 930 =m REEHE| B xzzm
2 | 1010 (BE) | 2|24 1010 g B |xeam BE
3 10:50 3125 10:50| =m =+|Emn =R
4 11:30 4126) 1130 =z By |2l 1=+
5 | 1210 5 | 1210
6| | 12:50 6| | 12:50
7| | 1330 7| | 1330
118208 | shawa | 1| 4 930 @ 1 - 0 EHA|ress RE|| | 12848 | siwa | 127] 930 BEE KEL|ER BE
(B) | (®@®) | 2 5 1010xzmm 3 - 0 yoswy| Bt E%A @ | @m® |2 |1010
3| 6] 1050] =@\ 6 - 0 #\BM |[JosL xees 3[ 28] 10:50| X EEA EE |xEt BER
4 7| 1130|XEEE 4 - 1 mwma|=Em &6 4/29| 11:30| 1RFE &M |ERE xesm
5 8/ 1210| = 8 — 0 JoyLyy|=EA xees 5(30| 12:10 £H =E |88 x5t
6| | 12:50 6 31| 12:50| EH BE 2@ =8
7| | 1330 5 7| | 1330
sie | 1| 9 930 mm 4 -0 =E |#m E2H sims | 1132 930) RH HE |Ema &
kmEm)| 2| | 1010 (Fp) | 2|33 1010 ERA B |xmen BE
3/10| 1050| = 0 - 1 #Bf |EE =R 3| 34| 1050 RH Fasuyy| Bl RIL
4 11:30 4|35 11:30| BR KE+|vor. 2H
5 | 1210 5 | 1210
6 11| 1250 xgam 2 - 0 M |RE &M 6| 36| 1250 x=E®E RET| &M xut
7| | 1330 7| | 1330
11A278 | stama | 1112 930 48@ - soswy|BE 4RE ! 9:30
(8) (B 2 10:10 2 10:10
3[ 13| 1050 =R - =HA | B =m:A 3 10:50
4| | 11:30 4 | 11:30
514 1210 spmm - =% |2@ =8 5 | 12:10
6[ 15| 12:50 =R — JasLvy| xees BHE 6 12:50
7| | 1330 - 7
sias | 1|16 930 mm - ERA|sees BE | 920
(&37) | 2 10:10 - 2 10:10
3|18 10:50| ywmgg - BE | =% Joy 3 10:50
41 19| 11:30 = - JosLey| BB xeem 4 11:30
5(20| 12:10( = @A - BE oo BB 5 12:10
6{21| 1250 mm - @ |zma BE 6| | 12:50

KETF—LEBHOERERL, FLNRFUBLA I EERGER~ A FTETIRELUBFIRREE 1 LE>THEN,




